STXR
Dyr1270=-N=>

m m R

BWPI—K K49239
i I,  TCR3000
Ahmitia il TCR3000-11

Hmd—k K49241
it I,  TCR4000
EBmitREI  TCRA4000-11

» BmCENORG, LeibmitiaRiiz CEE TS,
- HASmO—ERCIE, T Ly NEFTOHDERNBOET,

AF-RREEN &



&

BBHBG) EII-—DL\T

1. #Eh0 TEXOEE, TiHE 2 TEE < 72
IV

O B B %

@ MM E0

® & &

@ HEmES

® @ 54

MR EERBNX A MRARKES L UERKEICIEMSD
R—LTL—PMIERRLTHWET,

2. HEEoE - ik, UTFTOoZEE2RLTEY
9,
Heevalid ARAEN TV 3 EKHELE
& iz & v B B85,

A7yt BICEENZHET, BT
HEEA U 728 VB 5

HERROBRERIZDONT

C OBImOMERREOMEER B &
BIEFTBUI0IR 94ETT, il L. HBERAT
H - Th BHRMGEICD VTG & %2 THE%
IETVWIELEEbDDET,

fESSmOS R LR O MBFER T
BT LETH, HHEFERERETH - Td, M
B D TEED S - 1BE BB X oMK iIco
mffﬁ%é%fbtt%i?o



TCR3000 - 4000

HhyFaroo—ib

JU—L - FO—/

3 —

13358-1
REES| HmES i i % i) LSS i =l

3 BZ16130 Ak 8.8 MI16x130 2

4 030619101M 7y ¥y 17X6 2

5 098120000M v CP 2

6 032910200M N—=F v ;19X5 2

7 0828851004 kv FCP 1

8 BZ20130 Fvh 8.8 M20x130 2

9 082937100M YaA v bRy v ECP 1

10 | BSZ10035 afy R+ 7 MIOX35 1

11 | NNF10 75 vVFrA4uarvry b MO 1

12 | WCR1L10 PINXYFLHR 1vah 4 MIO 2

13 | BH10020 *v v 7B 109 MI0X20 1

14 | NSZ10 amygFy b 8 2¥a MO 1

15 | 0830370004 77—+ R 1

16 | 0830380004 ZFr—1+ ;L 1

17 | BJ10025 +7F% v v 7B 109 MI10X25 6

18 | 044098500M 7y ¥y ;10 6

19 | 0981714004 A7y 1

20 | BSZ10025 afy R 7T MI0X25 4

22 | BZ16130 F b 8.8 MI6X130 2

23 | NN16 FAvriy b MI6 2

96 0798734004 757w hCP ;1 1| TCR3000
0798734004 7779 P 1 2 | TCR4000

o7 0798770004 A RFFr—F 2 | TCR3000
0798770004 AARFFr—1+ 3 | TCR4000




TCR3000 - 4000 HvFr4roO—lbR—5
JU—L - FO—/

Riti%Es| HmEZ i it % i 5k 18 %

28 0798781000 A =3 2 | TCR3000
0798781000 R L= 3 | TCR4000

99 BSZ08025 agyFEvEr T M8X25 16 | TCR3000
BSZ08025 akgyFEvt T MEX25 25 | TCR4000

30 | 044098500M 7 v ¥y ;10 4

a1 044097200M To¥y ;8 2 | TCR3000
044097200M Ty ¥y ;8 4 | TCR4000

32 1263060004 R L —¥X—2CP 1

33 126312000M ~N—2CP; L 1

34 126310000M ~=2CP R 1

35 129249000M 7y ¥ ; 16.5X3.2 2

36 | PS040025 2T7Y) v ITEY 4X25 2

37 | 089217000M R7Y v L 1

38 | 089218000M 27y v R 1

39 | WRA06 e SY¥AR M6 4

40 | BR10075 #7%x<NWB 46 Al MIOXT5 2

41 | BR10070 A x=<NB 46 Al MIOXT0 2

42 | NSZ10 axgs+Fvb 8§ 2¥a MIO 4

43 | WSA10 NFHFHFR 3TY MO 4

44 | NZ16 Fv b+ 8 2¥a2 MI6 2

45 | WSA16 NERFHR 3Ty M6 2

46 | NZ20 Fv b 8 2¥a M2 2

47 | WSA20 NEYHEX 3TT M2 2

48 | WSA10 NERYHAR 3av MIO 11

49 | NSZ10 afgyFy b 8 2va MIO 10




TCR3000 - 4000 #H v 5 4»oO—ikR—35

JU—L - FO—/N

13358-1

AiEs| HmES B A i (K {é
50 WRAO8 EZ AR M8 16 | TCR3000
WRAQO8 EIHFTR M8 25 | TCR4000

51 WSAO08 NRYFHAR 3TT M8 16 | TCR3000
WSAO08 NRYFEHX 3Ty M8 25 | TCR4000




TCR3000 - 4000 # v 5 «»FO—IbR—35
AV - ARGV F - NT

RiiES| Bm&E=Z #B G % R {1k fis =l
1 0008800000 N7 5 F90X 120 2
2 J30210 F—a—5 X7 Yy 30210 2
3 J30213 F=No—5~FY vy 30213 2
4 0008810000 Y=V oy ¥ 66X120 2
5 1024741004 TIRVT R YT 2
6 000882000M F vy Ry b M39X2.0 2
7 PC063056 7Y EY 63X56 2
8 0008830000 Frv7 590 2
9 0008780000 AV b5 M18X1.5X49 12
11 0008840000 tA =y b MIEX1H 12
12 102973000C BA =5 10IX15 2
13 | 0003820000 %4 ¥ ;12.5L—15—8PR 2
14 | 0003880000 Fa—7;125L—15 2
15 1085402004 2% v FCP 1
16 | BZ12035 b 88 MI2X35 2
17 102553000M R — 2% F—~ +CP 1
18 | BZ12030 R b 88 MI2X30 1
19 | NP12 A7y v IFy b M2 1
32 1125181004 tA4 =7 FCP 2 | @441

33 112523000M oy 7Yy 2
34 | 067032100M 27N T 2
35 | 0006910000 =¥ ; Ml2 2
36 | NZ12 >y b 8 2¥a2 M2 2
37 | 000739000M JvFEy ;9 2
38 | 0005191004 NI 2

I
=
|



TCR3000 - 4000 # v 5 4 & 0—IbR—5
GA¥ « RFUK - NT

AtEs| HBawFES il a8 % i) ek 8 =l
39 | J6205LLU H=XT Y vy 6205LLU 4
40 | 0005200004 A7 — 2
41 | BSZ10030 aHgy Rk 7T MI0X30 8
42 | 073310100M Fro7 2
43 | 000763000M FryT 2
44 | NZ14 Fv b 8 2¥a Ml 2
45 | 0005110000 514 ¥ ;4.80,74.00—8—4PR 2
46 | 0576790000 Fa—7;4.00-8 2
47 | 000446000C Ft A = ; 3.00DX8DT 2 | @481t

48 | 000447000C wA = (OO TRAS)S.00DX8DT

49 | BA08016 Kb 46 M8X16 8
50 | 072968100M Ty vy ;14 2
51 000736000M AT — 2
52 | WSA12 NRHEH X 3Ty MI2 2
53 | NSZ10 akxs+v b 8 2va MIO 8
54 | WSA10 NRFEAX 3T MIO 8
55 | WSAl4 NRYFEHEX 3Ty M4 2
56 | NSZ08 aksFvb 8 2va M8 8
57 | WSAO08 NRYFEHER JTY M8 8




TCR3000 - 4000 H v 7 4 »7A—IbAR—

PZ2RAAR—bO—-F L1

7

Rit&EsS HmES i oh % PR &% & =z
1 1268781004 ou—35CP ; 40L 1| ®&:5,10,12,13,15,17,18f¢
3 JCS208LLU 2=y bavN7Y) s CS208LLU 1
4 0770673004 X7 Y 7 Lr—ZCP ;80 1
5 1260981004 X7Y) -2 ;80 1
6 BSZ10020 aKgy R T MIOX20 4
7 BSZ10035 aFy R 7T MI0X35 4
8 BSZ10070 aBgyRLE T MIOXT0 2
9 0826641004 AT — ; 41.6X48.6X58 1
10 0573680000 N -

11 0797382004 27wl y NCP; 22T 1
12 0885830000 v A5 25.5%X1.0 -
13 WRA24 ¥R R M2 -
14 0770703004 7Yy v —2xCP; 72 1
15 1260971004 X7Y) I —2 ;72 1
16 JAEL207D1 2=y baux7Ty vy AEL20TDL 1
17 NC2L24200 FrovANFy b 2Vabks MAUX20 1
18 PC050045 7Y ¥y 5x45 1
19 WSA1L0 NEXY¥H R 3Ty MIO 10




TCR3000 - 4000
S ZAR—bAO—

REES|l HR&ES 0 i £ R A% (i %

) 1268750004 o—35CP; 405 8 | 32,5,8,10,11,14,15,166F TCR3000
1268750004 v —5CP ; 408 12 | @2,5,8,10,11,14,15,164F TCR4000

9 0885820004 ’ 75— ,41.6X48.6X8 8 | TCR3000
(0885820004 95— 5 41.6X48.6X8 12 | TCR4000

3 JCS208LLU 2=y baYXRTFTY Vs CS208LLU 8 | TCR3000
JCS208LLU 2=y bFUXNTY s CS208LLU 12 | TCR4000

A 0770673004 7Y v Lr—xCP; 80 8 | TCR3000
0770673004 7Yy visLr—2CP; 80 12 | TCRA4000

5 1260981004 X7Yyvrsr—=x ;80 8 | TCR3000
1260981004 N7y v —2 ;80 12 | TCR4000

6 BSZ10020 afgyEvy 7T MIOX20 32 | TCR3000
BSZ10020 aFyFRs 7T MI0X20 48 | TCR4000

7 BSZ10035 afyRr 7T MIOX35 48 | TCR3000
BSZ10035 afFyFEsy T MI0X35 72 | TCR4000

8 0573680000 DN —

9 0770621004 27a4yy hCP; 22T 8 | TCR3000
0770621004 27 a4y bCP; 22T 12 | TCR4000

10 0885830000 VA 25.56X1.0 —

11 WRAZ24 ESH¥AR M2A4 -

12 JAEL207D1 2=y b3 UXTY S AEL207D1 8 | TCR3000
JAEL207D1 2=y bagx7Yy s AEL207D1 12 | TCR4000

13 0770703004 N7y vyIFLr—xCP; T2 8 | TCR3000
0770703004 7Yy vIZv—xCP; 72 12 | TCR4000

14 1260971004 Xy Y vIsrv—2;72 8 | TCR3000
1260971004 VAU IV/A VS S ] 12 | TCR4000




TCR3000 - 4000 H v 5 4 »ZO—IbR—5
FPSVAR—bO—7F ; 81

AtES| HmEFS &8 i % i) 1Bk 18 =l
5 NC2L24200 FryANFy b 2¥Vaks M2AUX20 8 | TCR3000
NC2L24200 F ooy RANF oy b 2¥Vaks M24X20 12 | TCR4000
16 PC050045 7)Y b5x45 8 | TCR3000
PC050045 7Yy 5X45 12 | TCR4000
17 WSA10 NRYPHAER 3T MIO 80 | TCR3000
WSA10 NEr¥FHX 33Ty MI0 120 | TCR4000
—




TCR3000 - 4000 #1554 ¥’ O—IbR—35

>

IrkOo—3

RtES HRn&ES B B 4 PR {2 ] %
1 1268811004 o —5CP ; 455B 1 9,11,13,18,19,20ff
#126099000M + 129322000M 1}
2 0797113004 BT — 5 46X60.5X29 1
3 126100000M Y= v ¥+ CP,; 120 1
4 0770890000 7y ¥a ;10.2X15.2X14 3
5 JCS309LLU =y ba3YNTY s CS309LLU 1
6 0770951004 R7YvIr—= 1
7 BSZ10060 apgFRNME T MIOX60 3
8 0770922004 A5 — ; 46X60.5%17 1
9 0770931000 VA, 1X55%x45.5 —
10 0770752004 A7a’ly +CP; 22T 1
11 | 0885800000 v 5 3TX1.0 —
12 0770703004 7Y v ISL—2CP; 72 1
13 1260971004 X7V v ITv—2R ;72 1
14 JAEL207D1 2=y baYXRTY S AEL207D1 1
16 BSZ10020 aAFy Ry T MI0OX20 2
17 | BSZ10035 agy RN T MIOX35 3
18 WRA36 Es¥FARx M36 -
19 | NC21L.36300 FpyANVF v 2¥Vaks M36X3.0 1
20 | PC063071 TYEY 63XT71 1
21 WSAI10 NERHFEHFR 3T MI10 8




TCR3000 - 4000 H v 74 27O—IkR—-5

F5UZK—PO—5 ;82

RHEsS WMmES #h 56 % PR RS fid %
1 1268750004 a—3CP; 408 1| ®2,5,9,11,12,15,16, 17+
2 0885820004 A7 —; 41.6X48.6 X8 1
3 JCS208LLU 2=y hayx7yl) vy CS208LLU 1
4 0770673004 X7l 7L —2CP ;80 1
5 1260981004 X7Y)s7Lr—2 ;80 1
6 BSZ10020 aFyRwr 7T MIOX20 4
7 BSZ10035 aBFyg Rk T MIOX35 4
8 BSZ10070 aFgy R T MIOXT0 2
9 0573680000 DN —

10 0770621004 27wy CP; 22T 1
11 0885830000 VA 25.5%X1.0 —
12 WRA24 ES¥HR M2 —
13 JAEL207D1 2=y ba3YXFTYrs AEL207D1 1
14 0770703004 Ry Yy v 7uv—xCP; 72 1
15 1260971004 XYYy vrvr—x ;721

16 NC2L24200 FrvANFy b 2¥Vabks M2AUX20 1
17 PC050045 7Y EY bHX4h 1
18 WSA10 NExRH¥EHFx 3T MI0 10




TCR3000 + 4000 #1547 a—kR—5
KS478—-5 ;M

3000

. F5470—-5;UP Satied
Rii&s| MR&ES il 4o & L3 8% & =
= . (8,10,11,13,14,15,16f¢

1 1268721004 o —ZCP ; 50W 1 #129392000M<f

2 126179000M Y—=n7 9 ¥ CP; 132 2

3 JCS310LLU L=y b3a3y~x7Y s CS3I0LLU 2

4 0770890000 7y va;10.2X15.2x14 6

5 1190200004 X7y vIr—2;110 2

6 BSZ10070 aFgyEs 7T MIOXT0 3

7 BSZ10060 aFgygENwr 7 MIOX6E0 3

8 0770931000 DN -

9 1261800004 FITNRATaly WCP; 22T X2TT 1] TCR4000
1292470004 7R 7aly rCP; 22T X26T 1| TCR3000

10 0885800000 Va5 3TX1.0 -

11 078712100M ¥4 b0X1.2 —

19 0770752004 A7a’y bCP; 22T 1| TCR4000
(932420004 Z7vlry b 22T—3N 1 | TCR3000

13 WRA36 ESH#ATx M36 —

14 NC2L36300 FryvANFow b 2¥aks M36X3.0 2

15 PC063071 ) EY 63XT71 2

16 090624100M A7 —,505X15.5 2

17 WSA10 NRY¥FEHTE 3Tv MI10 3




TCR3000 - 4000 v 5 4 »&Oa—IR—5
K5470—5 ; UP

8 11 FZ470—5;UP
RE&RS MRmES & i) % a3 1% % &
_ . ®14,16~20fF - #78099f+

1 1268841004 o —5CP ; 46W 1 #129322000MAF
2 126179000M Y=N7 v ¥ CP; 132 2

3 0770792004 X7 T —2 2

4 JCS309LLU 2=y ha3UNTY S CS309LLU 2

5 0770890000 Ty va ;10.2X15.2X14 6

6 BH10045 F+ v 7B 10.9 MI10x45 6

7 1180331004 EvY R 1

8 1180341004 Evy, L 1

9 1180320000 Ty ¥a ;110X 115X13 2

10 BZ14080 R 8.8 MI14X80 6

11 077091200M A 2 2

12 BJ06012 +7F v 7B 109 M6X12 12

13 0770922004 AT — ; 46X60.5X17 2

14 0770931000 DN —

15 0770752004 A7a4y bCP; 227 2

16 0885800000 v 3TX1.0 -

17 WRA36 ESHH R M36 -

18 NC2L36300 FryARNFy b 2¥VaksZ M3IEX30 2

19 PC063071 7UEY 63%XT71 2

20 0797113004 A15— ; 46X60.5X29 2

21 NZ14 Fv k8 2¥a2 M4 6

22 WSA14 NRYHR 3TU Ml4 6




TCR3000 - 4000 # 5 4 ¥ O—IbR—5
FLA—5

FSORR—+E—F ;L3
RigS BEES s & % B [ fi %
1 1002573004 FLo —5CP ; 40L 1| ®10,12,13,17,18f¢
3 JCS208LLU =y baUNRTY S CS28LLU 1
4 0770673004 X7 ) 7 r—2ZCP; 80 1
5 077066300M 7Y vsLr—2 ;80 1
6 BSZ10020 afyRE T MI0X20 4
7 BSZ10035 azy RN T MIOX35 4
8 BSZ10070 aFgyHmr T MIOXT0 2
9 0803441004 AT — 1
10 | 0573680004 DA -
11 0770621004 A7a’ly NCP; 22T 1
12 0885830004 Vo 25.5X1.0 -
13 WRA24 AR M4 -
14 0770703004 _X7Y v 7L —-2CP; 72 1
15 077069300M R7YvIr—-=2 ;172 1
16 JAEL207D1 2=y bavx7yY vy AEL207D1 1
17 NC2L24200 FroyvXNFy b 2¥Vaks M24X20 1
18 PC050045 7)€y b5X45 1
19 WSA10 NERYFEHF . 3T MIO 10




TCR3000 - 4000
S AR—bO—

5

13366-2]

6,7,8

SRR~ bA—F ;L3

RiEs| HmES #B i % i) 1Bk i =l
1 1268781004 v —3CP ; 40L 1| ®2,5,10,12,13,15,17,18fF
2 0885820004 #15— 5 41.6X48.6%8 1
3 JCS208LLU A=y bayxXy7Y s CS208LLU 1
4 0770673004 N7y v Lr—XCP ;80 1
5 1260981004 N7y T —=2 ;80 1
6 BS5710020 aFgyKwt 7T MIOX20 4
7 BSZ10035 angyKwt T MIOX35 4
8 BSZ10070 aFgyFur 7 MIOXT0 2
9 0771061004 N5 — 5 41.6X48.6X52 1
10 | 0573680000 VA -

11 0770621004 278w’y hCP,; 22T 1
12 | 0885830000 ¥ A5 265X1.0 -
13 | WRA24 EIHWAR M2 -
14 | 0770703004 7Y IS —xCP; 72 1
15 1260970004 7Y v IL—=2;172 1
16 | JAEL207D1 A=y bEYNTY s AEL207DI 1
17 | NC2L24200 FrwANFw b 2¥Vab7 M24X20 1
18 | PC050045 Ty 5X4h 1
19 | WSAID NERYFH X 3Ty MIO 10




TCR3000 - 4000 #1 v

4 7a—=IbR—

g

K5471—3 : UN2

13367-1
RES HERES # AT % a3 %% 1 z
i 4 ®5,9,14,15,16, 17+
1 | 1268811004 o—35CP ; 45SB 2| 419692200001
2 | 0797002004 55— ; 46%60.5%6.5 2
3 |JCS209LLU |=2=y bh3aw~7) s CS09LLU 2
4 | 0771293004 ~7YvIL—2CP; 85 2
5 | 1260991004 7Y v L—2Z ;85 2
6 | BSZ10020 aAsRME T MI0X20 8
7 | BSZ10035 aAEZENLE T MIOX35 12
8 | 0780992004 N5 — 2
9 | 0770931000 v -
10 | 0781004004 27 a’y FCP; 22T 2
11 | 0885800000 Y5 3TXL0 -
12 |JAEL207DI | 2= r39~7Yy s AEL207DI 2
13 | 0770703004 RFYVITL—2 ;T2 2
14 | 1260971004 R7PY YT L= 7Y 2
15 | WRA36 ES¥AE M36 -
16 | NC2L36300 FrvANFoy b 2va2kbs M3IEXI.0 2
17 | PC063071 JYEY 6.3XT1 2
18 | WSAL0 NEHFHE 3T MIO 20




TCR3000 - 4000 von—ibR—35

P2 AR—pbO—

FSA470—5 . UN2

13367-1
RES| MmFE=S i i % i (= i %
1 1268750004 o —5CP ; 408 1| @2,5,8,10,11,14,15,16f¢ TCR4000
2 0885820004 #15— ;41.6X48.6X8 1| TCR4000
3 JCS208LLU 1=y bayX7Y vy CS208LLU 1 | TCR4000
4 0770673004 N7 v 7L —2RCP; 80 1| TCR4000
5 1260981004 N7V IL—=2 ;80 1| TCR4000
6 BSZ10020 aFZy®Rwr T MIOX20 2 | TCR4000
7 BSZ10035 aFgyg Ry 7T MIOX35 3 | TCR4000
8 0573680000 DN — { TCR4000
9 0932440004 27wy b 22T —4N 1 | TCR4000
10 | 0885830000 VA5 29.5X45X 1.0 — | TCR4000
11 WRA24 EIH¥AR M24 — | TCR4000
12 | JAEL207D1 2=y ba3YXT ) s AEL207DI1 1 | TCR4000
13 | 0770703004 N7 Y v —2CP; 72 1| TCR4000
14 1260970004 X7Y v —2 ;172 1| TCR4000
15 | NC2L24200 FroyANWF o b 2¥Vabks M24X20 1| TCR4000
16 | PC050045 7Y EY 5X45 1| TCR4000
17 | WSAIL0 NRYFHAEX 3T MIO 5 | TCR4000




TCR3000 - 4000

FRyIX

HyTFariya—ibR—5

REs HmBFS #B i % R 1B 18 =
1 0857980004 AL EFY Ry TR 1
2 0772220004 PIC*+ v 7 1
3 0772232002 PIC ¥+ 7 b 1

Asy | 88297Asy N FY (14T, 24T) (7 3) 1| @4, 5F
4 0882970004 N~p & 5 14T 1
b 0882981004 NV F Y 5 24T 1
6 0772260002 Ve 7 b 1
7 0772271004 w7 1
8 0558410004 NT Y VT RN 1
9 0701730004 AT = 1
10 | J6309 R—=x_7 Y 7 6309 1
11 | J6308 K=y Y 7 6308 1
12 J6208 R=x7 Y 7 6208 2
13 | D406510 ZA4 vy =i DI0X65X10 1
14 | ORGO75 oOvVvy G-7 1
15 | DHC100 CHsbrxv 73 100 1
16 | DCO45 ChHosbvxw v 4b 1
17 | BSZ10030 aFgy Ry T MI0X30 15
18 | 0591333000 Fav T I7AS 1
19 | 000338000M M107 5 & 1
20 | 0003390000 2y F v MI0 1
21 0341711000 a5 0.1 -
22 0339011000 Yui0.2 -
23 | 0558521000 Y4ua 0.1 -
24 | 0558531000 YA 0.2 -




TCR3000 - 4000 # v 5 1 ¥7O—IL_R—5
FYRy IR

H"

REE HEEFES 0 B % R A% fi %
25 (0445820000 Favtf i, 10x0.1 —
26 (0445830000 FagtAf i ;10X0. 2 —
27 D406210 ANy — ) DA0OX62X10 1
28 0000963000 PIC * + v 7, 35 1
29 1423250000 Ny —Ya4 vk WIL210—130W—B 1
30 WSA10 NERHEH X 3T MI0 15




TCR3000 - 4000
XAV RS54

A

»

I

& —

. /‘ TCR3000
% %18171& /L4g

{ 6/15142 i

(/% o

&
RHES| HmEF= i o e [} 8% i &l

1 BZ16040 R b 8.8 MI16X40 4

2 075320000M Ty ¥ 1TX6 4

3 082810100M TV 1

4 BSZ08030 aFyRLE T MEX30 2

5 044097200M Ty ¥y ;8 7

6 NSP08 ARYRATY) T Fy b 4 M8 4

7 0776261000 A 1

8 CP06020 +FNaxy M6X20 2

9 NP06 R7Y T Fy b M6 2

10 0852354004 LN—7—AuCP; 2 2 | @116
11 KBB—2530A A—RYEFAXTY) 7 A25X28X30 5

12 | 044214301M 7w ¥y, 25.6X1.0 5

13 DC025 Chsrrxvu vr 825 5

14 | 085238100M AT — 5 32.9X42.7X6.5 5

15 077240000M DN —

16 0852390004 FTVYVavATary b 4

17 J6006LLU R—=xX7 1) 5 6006LLU 10

18 DHC055 ChHsrxv 74+ 55 5

19 DC030 CHsrxg v 30 8

20 077174300M ~N—=CP;1 ®@24FF
21 077240000M DA

22 077178000M AN v T F ey F 10

23 082809000M A7V TG A 5

24 | NZ12 Fv b 8¥a M2 10

25 0800832004 A1 23—=CP 1




TCR3000 - 4000 517 ¢ ¥ A—IR—=5
ALV K54T

%{ 55 52 5354
[

J:,»\ 6 g
QW"

2
Rti&Es WELEE B 5 e i E | & %

26 | 0852363004 LN—7—4aCP; 1 3 | @1LfF

27 | 085887100M N—CP; 2 3 | @241+

28 | 085240000M AFY YT F 5y F ;0 3

29 | 0979461000 PIC #/3—; 270 1

30 | BSPZ08016 aAySWyHEELE T M8X16 3

31 | 0979470004 ¥ +7 hCP ; 458P 1

32 | 0979490004 RFY VI VYT 100 1

33 | JCS309LLU 2=y baYXTY s CS309LLU 1

34 | BSZ10035 afyEME T MIOX35 3

35 | 082560100M %7 — ; 45.5%X5 1

36 | 0770931000 A 1X55%455 6

37 | DC045 CHy 2T Yu 45 1

55 LA100054 O—5% x— 100X54L 1 | @61£} TCR3000
LA100055C O—5Fz—v 100X55L 2P 71 v ¥72 1| 360,611 TCR4000

1 LA80127C O—5F:— 80X127L 2PA 71 V¥ 52 1 | ®47,48( TCR3000
LA80132 OD—5F - 80X139L 1 | ®47F TCR4000

i AB080 TYEry w¥EF 2 | TCR3000
AB080 TYEY vXEF 1 | TCR4000

48 | AC080 Iy FA 7y b 80 1 | TCR3000

1 0939130000 O—35Fx—>;80XT72L 1 | TCR3000
0939150000 o—5% z—v;80X116L 1 | TCR4000

50 LA80184 O—5Fx— 80X184L 1 | ®514F TCR3000
LA80228 O—5Fz—v 80X228L 1 | ®@511F TCR4000

51 | AB08O TYEY wEF 1




TCR3000 - 4000 #1154 > ZO—IbR—S

XAV RSA4T

RHES| HEES R oo % i) 8% ] 1

59 0841561004 Z27 v’y +CP; 13T 5 | TCR3000
0841561004 Z27vy .y FCP; 13T 6 | TCR4000

53 J6206LLU R—Jx7 1) v 7 62060LLU 10 | TCR3000
J6206L.LU R—=)_7 ) 7 6206LLU 12 | TCR4000

54 DHC062 ChHsr 29 7T+ 62 5 | TCR3000
DHC062 Chsr 29 74 62 6 | TCR4000

55 077240000M A -
DC030 CHgvx7 Y7 30 5 | TCR3000

%6 DC030 CHszbrrxu Yo 30 6 | TCR4000
1262430004 R7ayy b 9TXIIT 1| TCR3000

oT 1262420004 Z27al oy b 10TX11T 1| TCR4000

” 1124830000 o—35F «— v ; 80HX122L 1| TCR3000
1124840000 o—35F x— v ; 80HX126L 1| TCR4000

59 1262410004 Fv¥a A7y b 10T 1

60 AC100 ¥y FA 7y M) Vs 100 1| TCR4000
ABI100 v FF ;100 1| TCR3000

61 AB100 vF 75 100 2 | TCR4000

62 025266000M FavAUFHE 2

63 BSZ08030 aFyKRr T M8X30 2

64 | WSAL6 NERHH R 3T MI6 4

65 NSZ10 afgyFv b 8 22 MO 3

66 WSA10 NERYHR 373 MIO 3




TCR3000 - 4000 Hv>r 4
HoTFa7b—AL (1)

vTa—=IyR—5

TCR4000

AEs EHES 0 i 2 PR {E#K & x

2 BSZ10035 aFyENS T MIOX35 4

3 BZ12080 Forx 88 MI12X80 2

4 044098500M Ty ¥y ;10 4

5 042783600M 7y ¥y ;12 8

6 1003560004 27 =7 L —LCP 1

7 BZ12090 Ao 88 MI12X90 4

8 0980501004 A7 L—=CP 15

10 0495010004 27 L=/ R 1

11 0495000004 S/ VYA I 1

12 BZ10025 agy RN T MIOX25 3

13 (0980531004 7357y b 15

19 (0721830000 70y 2

20 BSZ08050 agy RNy T M8X50 2

21 NNF08 75 vVFAvvFy b M8 2

99 098049000M 7= b 2 | TCR3000
0980480000 DN 2 | TCR4000

93 BZ12045 Fovb 88 MI12x45 5 | TCR3000
BZ12035 Rk 8.8 MI12xX35 5 | TCR4000

24 NZ12 Fv b 8 2¥=2 MIl2 2 | TCR3000

25 040608401M Ty ¥y ;12 6

26 044098500M Tyv vy ;10 2

97 BZ12060 A 88 MI12X60 1| TCR3000
BZ12045 T 88 MI12X45 1| TCR4000

28 100360000M L=+ 2

29 118222000M 7=k 10




TCR3000 - 4000 #H v F4»oA—IkR—5

DyoTaT0IU0—L4L (1)

L TCR4000
33—&
8
12768-3
RlEsS| WomES =il i R fEE fi £
30 100667000M B F AN M10X100 30
31 1035730000 VA5 10X0.8 —
32 WSA1L0 NxR¥EAR 3w M0 30
33 NSZ10 afgy+v b 8 2¥2 MIO 30
34 BSZ10070 amgy AL T MIOXT0 1
35 NSZ10 a#sFv b 8 22 MIO 4
36 | WSA10 NERYHR 33y MIO 4
37 NZ12 Fwv b 8 2va Ml2 2
38 | WSAI12 NERHFHAR 3Ty MI2 2
39 NZ12 Fvh 8 2va Ml2 4
40 WSA12 NWNERYEHF X 3T MI12 4
41 WSA10 NEYFH R 3Ty MI10 3
42 WSA12 NWERHFEHE 3FTY M2 5
43 NZ12 Fv b 8 2va2 Ml2 1 | TCR3000
44 WSA12 NERHEHAFX 339 M12 1
45 WSA10 NWERHEH R 3av MI10 1




TCR3000 - 4000 H 5 4 Y ZA—IR—5

AovFa277b—4A (1)

RiES BMmES = an PR A% &

1 0979972006 47 14

2 0979960006 7Y v 7 HTX31X310 14

3 097998100M Yr7 b1 1

4 097999100M Yy 7 b ;2 2

) 098000000M v ; Bl0X55 14 | @21+
6 0980010004 F v VRV 14

7 0980021004 754 v hCP; 1

8 0991561004 75 5 hCP; 2

9 098010000M vy ®18FF
10 098011000M #19—; 22.5X11 11

11 098012000M Ty Ve 23X3.2 7

12 098013000M AT - 22.5X21 2

13 0980140000 vy vy COS45Xx80%215 2

14 043341501M 27N v AT —; M12X100 14 | @241+
15 098015100M FA4 7RG 14

16 098016000M LoN—CP 1

18 PS050050 27N ey 5X50 2

19 PS060032 27N Ty 6X32 1

20 PCO050035 7Y EY 5X86 5

21 PC032016 7YY 3.2X16 14

22 044098500M Ty ¥y ;10 14

23 043686200M FA4VHFEHE ;A 14

24 NZ12 v b 8 2¥2 M2 28

25 WRA12 ESH¥H X M2 14

l
|




TCR3000 - 4000 #3542 7a—ibR—75

a—%
12
9
11 10 \
%

AHEES HEZEE il AT % g % & %
1 1186440004 o—4CP 1
2 0979882004 735 v IN 1
3 JCS309LLU 2=y baux7) vy CS309LLU 1
4 BZ12035 Kk 88 MI12X35 4
5 1124790004 735 v IN 1
6 1186430004 795vY ;R 1
7 BZ12070 Ao b 8.8 MI2XT0 4
8 118849000M A5 — ; 50X 40 1
9 WRA36 ESHH R M36 1
10 NC21.36300 FyrwRIWVFw b 2¥VatkD M36X3 1
11 PC063056 g EY 6.3X56 1
12 1089711004 27ay .y b 2TT 1
13 105072000M AVESEN 2
14 BSZ08016 aFyENE T MEXI16 4
15 JCS310LLU 2=y b3OXRTY s CS3I0LLU 1
16 WSA12 NRxHFEH R 33 MI12 8
17 WSAOQ8 NWERYFHFR 337 M8 4 1.




TCR3000 - 4000 735 4 »oa—IlkR—5

*—7

RHES WMIZES Zh B % R B 1 E
1 | 1089700002 HO V=27 b : 1
2 | JCS207LLU 2=y pRTY v CS207LLU 1
3 | JPF207 NATS5 VY = PRAT 2
4 | BSZ10020 afy RN T MI0OX20 3
5 | 108969000M #15 — ; 38.4%58.5 1
6 | 1089680004 Z7aky k0T 1
7 | 0988800000 v & 5 35.5%0.6 -
8 | 0573680000 DA -
9 | JCS208LLU 2=y baYNTY VY CS208LLU 1
10 | JPF208 NAT75vY =) PF208 2
11 | BZ12020 F b 88 MI12x20 4
12 | 108959000M Y g vT7—4uCP 1
13 | J6007LLU K—=Ax7Y vy 6007TLLU 1
14 | DHC062 CHIVAXT TF 62 1
15 | 0812670000 Fv¥ava—35CP 1
16 | DCO17 CHE b Ay Yo 1T 1
17 | 082030000M RF T )Y 1
18 | 043341501M A7 VI RF— ; M12X100 1
19 | NZ12 Fu b 8 2va M2 2
20 | 1089580004 RFa oy b ;20T 1
21 | 0590442006 FART Ty ¥y 3
22 | NN16 FA4avsy b M6 3
23 | LA60047 o—-5F - 60X47L 1| @24, 414+
24 | AB06O YEF 60 1
25 | 1089520002 vy 7 b5 SC 2

|
&
l




TCR3000 - 4000 #1554 ¥ O—I_R—5
A—H

REES| BRES il G % r % {0 %
26 | J6308LLU F—~7Yvs 6308LLU 4
27 | DHC090 CHI AT T+ 90 2
28 | 071524100M BT — 2
29 | 1088970004 R7alry b ;12T 3
30 | 108953000M #5— 38.4%X33.5 1
31 | 1089471004 24 a2—CP; L 1
32 | 1089501004 2% W a—CP; R 1
33 | BSZ08075 aFy RV T M8XT5 2| CPiE4 )
34 | NNF08 75vVrA4avsy b M8 2| CFi@4 )
35 | 0763840000 FALOvTyVa 2
36 | DCO35 CHy 2T Vs 35 2
37 | 108954000M PR 2
38 | 059483000M B FENM  MEX5 4
39 | 044097200M Ty V8 4
40 | NSP08 AHSYRTY Y TF b 4 M8 4
41 | ADOBO A7%y b ¥s 60 1
42 | WSA10 NEHFH R 3Ty MIO 3
43 | WSA12 NERFEHRX 3Ty MI2 4




TCR 3000 - 4000 # 5 4 »FA—IR—3
Evys797 (1)

64
/’35
R )
64
(7277 b
4
AHES #HRES s BH # PR B e %
1 1088036004 w77 v 770—4CP 1
2 1087943004 7 5% v pCP 1
3 BSZ10020 aFmy R T MI0X20 10
4 1088451004 #+4 K7L —=bhCP; R 1
5 1088491004 F4 K7L —CP; L 1
6 BSPZ08016 aFISWYFRE 7T MEX16 6
7 108813000M a—4% hN—-CP 2
8 BSPZ08016 aHFISWYFEEE 7 M8EX16 6
9 108886100M v — b 2
10 108888100M T3y k 1
11 BSZ10025 aFyENE T MIOX25 2
12 108885000M 27 v H6X40X 236 2
13 043341501M 27N v 27— MI12X100 2
14 NZ12 Fv b 8 2¥a2 Ml2 4
15 083867100M 7Iy b 2
16 RBT10020 K& vB 109 M10x20 4
17 NSZ10 akdyFy b 8 2va MIO 4
18 0446221000 YawdTTV—=N;B 4
19 044617100M H o — 4
20 BSZ08025 aFFENE T MBX25 4
21 NSP08 AHFSRFYVITFw b 4 M8 5
22 0827000004 0—375y¥Va 31
23 RBT08020 R B 109 M8X20 62
24 BSPZ08016 AT ISWYFEr 7 M8X16 62
25 1088220004 257 —CP 1

|
)
e

|




L
TCR3000 - 4000 HvF4roO—ibR—5
Evyo7v7 (1)

RS #HmES #B bn ) % i %
26 1088280004 7 vy 7 HN-CP 1
27 | 082712400M - bCP 2
28 | 000088100M N—F v ;19X3 2
29 | WRA20 AR M20 2
30 | 000739000M JvFEy ;9 2
31 | BSZ10035 amyFEwr 7T MIOX35 2
32 | NSZ10 awgsry b 8 2¥a MIO 2
33 1128161004 w77 vw7H~—CP;R 1
34 1087382004 w7 7w 7AN=CP;L 1
35 | BSPZ08016 aFsSWy FFub 7 M8X16 13
36 | 0960970004 AN — 1
37 1128151004 A= L 1
38 | WRAO8 E7¥ARx M8 1
39 | 049503200M 714 ¥CP; 6.3L 1
40 | 049504200M 74 ¥CP;6.3R 1
41 | 093754000M 74— L VF [ 12X48 2
42 | 093755000M By 12X48 2
43 | NZ12 Fv b 8§ 2¥a Mi2 2
44 112524100M HA Fo—35CP 4
45 | J6004LLU K—~x7 Y vy Je004ALLU 4
46 | WRA16 EI¥AR MI16 1
47 | PS040032 2A7Y v IEy 4X32 4
48 108879000M 25 v 2CP 1
49 | ONA6 7TV —R=w 7NV A M6 3
50 | 060807100M Ty ¥y 1
51 | PC050045 70Ky 5X45 1
52 | BSZ10060 axns b 7 MIOX60 1
53 | NNF10 75 vVFA4u vy b MO 1
54 | 1088389000M A by 1
55 | 000073200M v ; B16X55 1
56 | PC032032 7Y EY 3.2X32 1
57 | 083095200M v CP 1
58 | 000738000M YYFEY 6 1
59 | 044098500M 7y ¥Yv ;10 2
60 | 082669000M AT — 8
61 | WSA10 NRYFHEX 3Ty MIO 16
62 | WRAO8 ESHEAR M8 4
63 | WSAOQ8 NERYHR 3Ty M8 62
64 | WRAO8 EI¥FEHEX M8 13




TCR3000 - 4000 $ 5 4 ¥ ¥ A—Ib_R—35

Evyo7v7 (1)

BIES &% 2 # & z B T @ i
1 1088920002 Y+ 7 b 1
2 0826932004 ¥4 7L —1+CP 3
3 075290100M AR ZE ] 3
4 BX10070 Ao h 109 MI10XT0 3
5 NNF10 795 vIF4ars+y b MIO 3
6 082694000M NI — 1
7 082695000M BT - 1
8 WRA24 ESWhH R M24 2
9 NC2L24200 FowANFy b 2¥abky M2UX2 2
10 PC050036 JYEY 5X36 2 1
11 JCS206LLU 2=y b3YXTY S CS206LLU 2
12 JPF‘206G NA 75 vy = PF6 4
13 BSZ10020 aFyERNMN T MIOX20 3
14 BSZ10025 afFZyENE T MIOX25 3
15 1418400004 74 v/N—=CP 5
16 0640350000 FAO YTy Va 15
17 065487000M VAo 356X%1.2 20
18 ‘PC050056 T EY 5X56 10
19 1418490000 X7 vy SBX0343LLM 5
20 DCO17 CHE VX7 Yo 17
21 0797363006 g4 50
22 1088933006 74 v ;25° 30
23 079733100M g4 vva—;1 80
24 079734100M TV a— 2 80
25 066951100M Ry 80

|
T




.|
TCR3000 - 4000 #HvF47a—IkR—5
Evyo7v7 (1)

RE%ES| HmES i an % i) 1%k i =
26 | 066952000M RV b 80
27 | NNF08 75vVFr4urFy b M8 80
28 1423540004 A7'aly »CP; 42T

29 | 0709092000 Ty Va
30 | 0979680004 R
31 | 077240000M N

32 1306120004 73y Fay T L=}

33 0432480000 ARV B M VESN

34 0633131000 RN T 6X22X37

35 BSZ10070 agdy R T MIOXT0
36 044098500M 7y ¥y ;10

37 1088950004 27al oy b 42T

38 | 081267000M Fvvavua—35CP
39 | 082660000M AT —
40 | 080925000M + v b

IR TW W | W == NN DN NN (D= D=0 | =

41 | BZ12050 b 88 MI2X50
42 | 042783600M 7y ;12

43 | LA60067 O—5F - B60X67TL ®44, 451+
44 | AB060 vEF 60

45 | AD0B0 F7%y k) vy 60

46 | 1000730004 P

47 | BJ10025 #5% 55 7B 109 M10X25

48 | WRA12 ES¥AR M2

49 | WSA10 NER¥EHAF 8=y MI0

50 | WSA10 NE¥EAZ 3Ty MI0

51 | WSA12 NEHEAR 3Ty MI2

52 | NSz10 afy+y b 8 2va MIO

53 | NSZ10 aFyF+y b 8 2va MIO

54 | WSA10 NE¥EHF 3Ty MI10




TCR 3000 - 4000 # v 5 4 ¥ O—IR—35
NAVF4a27 (1)

@
33;@@/ \
37 %

A

AtES HmES R it ¥R %K i
2 BSZ10030 akgsFEnr 7T MI0OX30
3 BS5Z10035 aFgEnmr 7T MIOX35
4 0829022004 7 — &Y R—+CP
5 BSZ10025 agsy Rk 7 MIOX25
6 044098500M 7y ¥ ;10
7 ONAG6 JY)—A=y 7 A M6
8 WRAO06 ES¥A % M6
9 0829054004 24277 —=5CP; R @12, 16, 221+
10 | 0829074004 AA 7T =4CP ;L @13, 16, 22fF

11 061847000M

Ty V¥

12 | PS050032

A7) v Ty 5X32

13 | ONB6

J)—R=y 7NV B M6

14 | 082908100M

T VI

15 | 000460000M

A7 xRNV E; M8X30

16 | NSP08 AFy A7) T Fy b 4 M8
17 | 082909000M 27y vy R

18 | 082910000M A7y 7L

19 | 082911000M 7—A4CP; R

20 | 082915000M 7—4CP; L

21 | 079496100M #HA ¥o—-iCP

22 | WRAQ8 ESHEAE M8

23 | 080816200M A4 F7—4uCP

24 | CP06016 +FNaTXY M6X16

25 | NP06 RTY v TFw b M6

26 | 077412000M

27 vy

DO [ [ (DO [ DDt | = [ = [ O DO [t [ = s [ Q= [ | DO = [ W W= | DD




TCR 3000 - 4000

INMMOF 40T (1)

HyTFaria—IbR—5

8
REsS MEmES i B R B fE Z

27 0808191000 ZL—b 2 | @291+
28 DE004 EXsrv»xv 4 2

29 PC032016 JYyEy 3.2X1.6 2

30 082916000M 27N T 1

31 080103100M Fo b M8 1

32 NSZ08 afy+rv b 8 2¥a2 M8 2

33 086184200M 2FY) T 1

34 0829173004 25 v/,5—CP; S 1 | @354
35 0774093000 Ty Va 2

36 082919000M AARKZ7L—F 1

37 BSZ08020 agyEr 7T M8X20 2

38 0829201004 75 vy N—=CP;IN 1| @39, 404+
39 PS080040 27) v ITEYy 8§X40 1

40 PS050040 27N Y 5X4) 2

41 0829211004 75 vonN—=CP; 1Ll 1

42 060807100M Ty Yy 1

43 0829221004 735 v /x—=CP; L2 1

44 BSZ08025 aFyEWE T M8X25 2

45 044097200M Ty Yy ;8 2

46 084164100M DN —

47 0845000000 7y Ve ; 85X, 2 2

48 NSZ10 amyFryr 8 2¥=2 MIO 4

49 WSA10 NE¥FHx 3Ty MIO 4

50 WSA10 NERH¥HE 3Ty MI10 4

51 WSA08 NERHHF 3aTu M8 2




TCR 3000 - 4000 #5747 O—IR—5
N5+ (1)

RHEES| BHES # 5 PR 5 1%
1 | 082923000M JL—*71L—}FCP 1
2 | BSZ10025 amgELE T MI0X25 1
3 | 082924300M VA A A 1
4 | 080410000M RFY VA 4
5 | BSZ10040 aFy ML T MIOX40 2
7 | 082925000M N—CP 1
8 | 0774343004 LN—CP 1
9 | 082926200M #+ 8 — hCP 1
10 | 0776990000 v 4 17%X0.5 -
11 | 061847000M VA 4
12 | DCo16 CHZ A7 Vr 16 4
13 | 082927400M +4 77—+ ;R 1
14 | 082928600M +4 77—t ;L 1
15 | 055474000M B xENVE 88 M8X20 2
16 | NSP08 anyRFIY) I+ v b 4 M8 4
17 | PS040008 RTY) Ty 4X8 2
18 | 1020460000 FA7 2
19 | TPA03006 FRNFyEVRY A 3X6 2
20 | 082929300M 2997 ;R 1
21 | 082930400M 27997 L 1
22 | BSZ08025 anyRLE T MBX25 2
23 | 082931300M avhro—n7—u4CP 1| @241
24 | NSZ08 aFsFy b 8 202 M8 1
25 | 082933100M FL— b 1
26 | NNF08 75vVFAaviy b M8 3




L.
TCR 3000 - 4000 75 4 Y7 A—IbR—5
N5 4229 (1)

RiEs B85 | # & % # B3 % %
27 044097200M Ty ¥y, 8 1
28 082934000M 27T 1
29 077412000M XY T 3
30 PC032016 7Yy 8.2X16 4
31 0773932000 L=t 1
32 | 077392100M IN— 1
33 TRA06016 QwAIZIwEYRY A M6X16 3
34 077404200M 7w 7CP; L 1
35 077423200M 7w 2CP; R 1
37 080415300M L /NCP— 1
38 077446100M A7y T A 1
39 BSZ10060 aFyFEvhs T MI0X60 1
40 NNF10 75vVF4uav+y b MIO 1
41 WRAL0 ES¥ARx MIO 6
42 079496100M A4 Fo—-wCP 1
43 BSZ08030 aFyRVy T M8X30 1
44 WRAOD8 ESHEHEX M8 4
45 080417200M 77y F/N—=CP 1
46 080419400M 7 v FCP 1
47 WRAL2 LA MI12 2
48 082935000M 27 vy H 1
49 082936000M Ty ¥Va vy N=2X 1
50 0794741000 gy Vavah 1
51 079475100M AT — 1
52 BSZ08040 afFyHh 7T M8X40 1
53 079469100M F7A YRV S 1
o4 WSA1L0 NEYFHx 3T MI0 1
55 WRAQ8 ESH¥FHER M8 2




TCR 3000 - 4000 #vF 1 »7O—IkR—5
RSA4TT—Y

SEHIw—% 18

AEsS T wmEFES #h ot £ ) [EEE5 & %
1 0883140000 Ty ¥ 2 55X60X60 1
2 JHFL3530 vy =142 5vF HFL3530 1
3 (35424 ALY —I (35X492X4 1
4 JRNAG901 =—Fx7Yy vy RNA690L 1
5 0809850000 FSsA 771 1
7 0774862000 7 — &CP 1
8 0932541000 v+ 7 +CP 1
9 0809870000 AN —F ¥ 5 20T 1 | TCR3000
1002000000 2N —=F P ;98T 1 | TCR4000
10 0883152000 ¥¥CP; 57T 1| ®1, 23fF TCR3000
1002040000 +¥CP; 75T 1| &1, 23fF TCR4000
1 (0809891000 F¥CP; 58T 1| TCR3000
1002030000 ¥¥CP ; 76T 1| TCR4000
12 0722000000 DN 1
13 (0932530004 J N — 1
14 DCO015 CHsbvx7 Y2 15 1
15 DHCO035 CHsbx9 73 32 1
16 DHC042 CH 27 T+ 42 1
17 J6004LLU K—=x71) w7 6004LLU 1
18 J6202LLU K= x_7Y vy 6202LLU 1
19 DC055 CHsbxg Ur B 1
20 BSZ08020 aFyENWE T M8EX20 1
21 BSZ08030 aFZENLE T M8X30 3
22 PS040025 RPN Ty AX24 1
23 ONASb TY—=R=w 7N A M6 2




TCR 3000 - 4000 #vF 4 & A—IIR—5

KS54F7—Y

XHI—748

REs HaEFS #B e i) (k5 1 &l
24 | 0883040000 ¥4 16.56X22X1.0 3
27 | 067788100M DA 1
28 | 0883130000 ¥4 60X80X1.0 1
30 | BXI08050 Rk 109 v M8X5H0 4
32 | 0883180000 7L—1 1
33 | NNF08 75 vVFA4a vy b M8 4
34 | WSAO08 NRHEHR 3TT M8 4




TCR3000 - 4000 # v 74 »7A—IkR—F

Quy¥2T -hovs

ALES MREFS &h 0 # a3 A% 1 #

1 0830813004 oy 77 L— hCP 2

2 083083100M AN 1

3 BSZ08025 aFFRNLE T M8EX25 2

4 NSP08 ARFRFY Ty b 4 M8 )

) 0830860004 Yy 7 b 1

6 PS060063W RFY Iy FTNaIT 6X63 1

7 PS100063W AFY vy F7uvav 10X63 1

8 0828111006 ) I/ 4

9 043341501M ATV TRT — 4 | ®10FF
10 NZ12 v b 8 2va M2 8

" 083087100M oy FCP : 855 2 | TCR3000

083103100M oy FCP; 1170 2 | TCR4000

12 079422000M Tx—2 LY F;10X40 4

13 079423000M v 10X40 4

14 NSZ10 aFy+v b 8 2va MIO 4

15 0883270004 Yy FLN=CP 2

16 060807100M Tw ¥y 26.56X8.2 6

17 PC050036 JNEY 5X36 12

18 0830911004 2B A 2

19 083084000M v 2

20 WRA20 bR M2 6

21 BSZ10030 aFyEnvr 7 MIOX30 2

22 083092000M ATy v 2

23 BSZ08060 aXmygEbd 7T M8XE0 2

24 025266000M FagAVFELR 2

l
8
|




I

TCR3000 - 4000

NyF427O—IbR—

Oy¥2T «-hov%

7

REES HaFES #B fi i} %k I =l

25 083095200M v CP 2

26 | 000738000M DvyF¥Ey ;6 2

27 | 0830930000 Yaw ) TTV=N 2

28 | 083094000M 7= 2

29 | BZ12050 FUh 8.8 MI12X50 2

30 | 0830961004 o—3 2

31 | BXT12050 Fovk 109 € MI2X50 2

32 | 083097200M 7—=4CP; 1 1

33 | 0794892006 27y vy H 2

a4 083098200M oy FCP ; 555 1| TCR3000
083104200M oy FCP; 710 1 | TCR4000

35 | BSZ10025 amygEmr T MIOX25 1

36 | 088328300M 7T—4uCP ;2 1

57 083101000M oy FCP 1 | TCR3000
083106100M oy FCP 1 | TCR4000

38 | PC032032 7YEY 8.2X3.2 1

39 083100000M avbre—LN=CP 1| TCR3000
083105000M arvbre—N—=CP 1| TCR4000

40 | 077461200M TN 1

41 | BZ06020 Fh 88 M6X20 2

42 | NP06 A7Y VY TFy b oMb 2

43 | ONB6 JY)—R=y 7N B M6 2

44 | 0967020000 Ay 1

45 | CP03016 +rNaxy M3X16 4

46 | NAO3 Fwv b 4 22 M3 4

47 | 045998000M V7 2

48 | 079744000M Fx—v 1

49 | BSZ08020 afy Kk 7T M8X20 1

50 | WRAIO EI¥FEAx MIO 1

o1 044097200M VAR 2

52 | NSZ10 agyF+y b 8 2¥a MIO 2

53 | WRAIO EFH¥ELR MI0 2

o4 | NZ12 Fo b 8§ 2va M2 2

55 | WSA12 NRYPAX 3Ty M2 2

56 | NZ12 Fwv b 8 2¥a M2 2

57 | NSZ10 amyry b 8 2va MIO 1

58 | WRAIO ISR MI10 1

59 | WRAO6 EIH¥AEX M6 2

60 | WRAO3 E ¥R M3 4

61 WRAO08 EI¥FHR M8 1




TCR3000 - 4000 15 4 ¥ O—Ib_R—3
rIAUTU—%

Rib&Es| MEES #B a0 # i 1% (il
1 083153000M hY vy —77% v bCP 1
2 BSZ08030 akggRVvr T M8X30 2
3 077500300M AU vy —CP 1
4 077499100M = 1
S PC032016 7Y EY 8§ .2X16 o
6 077495200M Fr—t 1
7 BSZ08025 aFgyEnvr T M8X25 1
8 044097200M Tv¥vy ;8 1
9 NNF08 73vYF4urvry b M8 1

10 083154000M IN— 1. TCR3000

083377100M 2= 1| TCR4000
11 079424000M TZx—J7 T VK ;8X32 1
12 | 079425000M v 8X32 1
13 | NSZ08 aFgsFy b 8§ 2¥a M8 1
14 | WRAO8 ESHAEX M8 1
15 | 083155100M /v # —CP 1
16 | 083156200M Fr—*t 1
17 | TRK10020 6hx Y 109 &I MIOX20 1
18 | 077503300M F ¥ VRN 2
19 | 077557200M RTY T 2
20 | BA06055 Ak 46 M6X5E5 2
21 | NNF06 75vVFfnrFy b M6 2
22 | 083157200M HAF¥TZ4 9 +CP 1
23 | BSZ08020 agyEnvr 7T M8X20 2
24 | NSP08 IFIATY YT+ b 4 M8 2

|
s
IS

l




TCR3000 - 4000 H v 74 27O—IbR—75
fOATLU—F

AHEsS HmF S i fil % i) S ] El
25 | 081748100M A4 FCP 1
26 | WRAIO EIH¥H R MIO 2
27 | 066672500M HA K 5
28 | WRA20 EZ¥FELHR M20 3
29 | DC020 Chsrvru V7 20 5
30 | 083996200M T VI 1
31 | NSZ10 axyFe b 8 2va MIO 1
32 | NSZ08 amygry b 8 22 M8 2
33 | WSA08 NER¥HR 3Ty M8 2
34 | WRAO8 ESHAR M8 2
35 | WRAO8 ES¥A R M8 2




TCR3000 - 4000 #5 1 »ZO—IbR—5
FNIL V=D vy

TCR4000

& - J;"j’" 1 TCR3000
‘ 4 o 46
¥ e 7|
245 4 o TCR4000 | \d\@ i%/
3
RHES| WMmES s &h % PR %K & %
1 109109100M 757y R 1| TCR3000
109393000M 7579, R 1 | TCR4000
2 BSZ08025 afgyRLE T M8X25 6
3 NSP08 AHIRATY VT Fy b 4 M8 42
4 0933702003 +4 F#N=CP; R 1| TCR3000
0933742003 +A4 FHN—=CP; R 1 | TCR4000
5 0933732003 +4 FHN—CP; L 1| TCR3000
0933752003 +A FA/X=CP; L 1| TCR4000
6 CP06016 +FrNaxy M6X16 13
7 NP06 A7) TFy b 4 M6 15
8 093376000M IAN— 2
9 073304000M 2AZN) VT A 2
10 | BSZ08035 aFy RV T MEX35 2
11 | NNF08 75 vVFLavFy b M8 2
12 | 000085200M N—F ¥V ;8%X16 2
13 | 0796583000 =F1Y ;50 3
14 | 079659100M + 5 NR 9
15 | WRAO08 ESHFHFx M8 5
16 | PS040016 ZFY Y 4X16 3
17 | 0333782000 A 2 | @sf7
20 0831434003 V¥ HN—CP 1 | TCR3000
0831893003 Y ¥ 5 /x—~CP 1 | TCR4000
21 | BSZ08020 aFmyRLy 7T M8X20 28
22 0801653003 N — 1
23 | 0006900000 =FY ; M8X14 4




|
TCR3000 « 4000 7155 4 »ZO—Ib_R—3
NPT B |

RbES HmES il mh a3 EEL & 1

0831441003 =y v yhN—-CP 1 | TCR3000

2 0831901003 =y hN—CP 1| TCR4000

25 067139100M FaysNy 2

26 | 083195000M =IO 1| ®27,294¢

27 | PC032032 7YYy 3.2X32 1

28 | PS040025 RTY vTEY 4X25 1

29 WRA12 ESHAH R MI12 1

30 | 077578100M ATV TF ey F 1

31 CP06016 +F~RaxY M6X16 2

32 | 0831450000 R I V—s¥ 1

33 083146000M 7L —+CP 1

34 | BSZ08020 aFAy RNV T M8X20 2
0831473003 A= R 1 | TCR3000

3 0831913003 AN—= R 1| TCR4000
0831483003 A= L 1) TCR3000

3 0831923003 A= L 1| TCR4000
1166090003 YA v =Yy T7 L —ACP 1| TCR3000

31 1166110003 FIA V=YV T T L —ACP 1| TCR4000

38 055474000M A7 FENME 8 MBX20 4
1087521003 ¥4 F7v—-4CP; R 1] TCR3000

3 1093111003 +4 F7v—4CP; R 1| TCR4000

10 1087543003 +4 K71 —=4CP; L 1| TCR3000
1093122003 #+4 F71L—4CP; L 1| TCR4000

i 109108100M 7345y b L 1| TCR3000
109302000M 774 v b, L 1 | TCR4000

42 | 0009341000 Ny vy F ;Y —60CL 2 | @43t

43 | NP05 A7V v+ w b Mb 2

44 | 080185100M L=k 1| TCR3000

45 BSZ08020 aFg AL T M8X20 2 | TCR3000

46 | NSP08 AXGRTY T 7Fy b 4 M8 2 | TCR3000

47 | WRAO08 ESHHER M8 2 1 TCR3000

48 115574000M 2N = 2

49 | WRA06 SR M6 13

50 | WRAO8 ESHHR M8 2

51 WRAO08 ESHHE M8 28

b2 | WSAO08 NRHEHEX 3TT M8 2

53 | WRAO8 EIHHER M8




TCR3000 - 4000 #vF 4 »7A—IbR—-5

HIiN—

R%Es| HmBEZ il an i) TE% 1
1 0832332003 Jovt#AN=CP ;R 1| TCR3000
0832043003 7oy kAN-CP;R 1 | TCR4000
5 0832382003 78y bHN-CP; L 1 | TCR3000
0832113003 7y b AN=CP; L 1| TCR4000
3 79658 Asy =F1Y ;50 10 | 34,3839
4 079659100M + IR 30
5 0777051000 Ny F 6 | TCR3000
0777051000 Ny F v 8 | TCR4000
6 083229200M IN— 2
7 BSZ08035 AR T M8EXS35 2
8 NNF08 729 vvFA4uavFy b M8 2
9 0832403003 Jy—rHx—CP;R 1| TCR3000
0832133003 —rAN=CP;R 1 | TCR4000
10 0832424003 F—=rHhN=CP; L 1| TCR3000
0832173003 JF—+rAN=CP;L 1 | TCR4000
1 0833470004 kv YCP 2 | TCR3000
0832301004 £ v VCP 2 | TCR4000
12 | BSZ08025 aFgyFENVE T M8EX25 4 | TCR3000
13 | WRAQ8 EZ¥FARx M8 4
14 | 0775910000 714 ¥CP 2
15 | BSZ10025 aFgyERur 7T MIOX25 4
16 | NSZ10 axsFy b 8§ 2¥a MIO 4
17 | WRA10 e % MI0O 8
18 | 0832192003 7ov bHhoN—-CP ;R 1
19 | 0832212003 7a Y bAN=CP; L 1




e,
TCR3000 - 4000 355 4 ¥ A—IVbR—5 |

F13— |
AilES MEES #B st % R e 16 =

20 0832462003 F—btA~N—1R 1 | TCR3000
0832221003 F—bhN—1R 1 | TCR4000

91 0832471003 F—bhh—1 L 1 | TCR3000
0832231003 F—=tAnN— L 1 | TCR4000

22 | BSZ08020 amy RV T MEX20 49

23 | NSP08 AHERTY TSy b 4 M8 54

o 1088571003 A= R 1 | TCR3000
0833413003 HoN— R 1 | TCR4000

25 | 083588100M 71/ =R 5 —CP 2

26 | 083340000M TYIW 1

27 | BSZ08020 aFyRNE T MEX20 5

9 083339000M TYIN 1 | TCR3000
083343000M T VIV 1 | TCR4000

99 1088560003 A/8—=CP ;L 1 | TCR3000
0833422003 As3=CP ; L 1| TCR4000

30 0832483003 A= R 11 TCR3000
0832242003 A= R 1 | TCR4000

31 | 083232000M 750y b 1

99 0832492003 A= L 1 | TCR3000
0832251003 A= L 1 | TCR4000

53 0832505003 A= R 1 | TCR3000
0832265003 A= R 1 | TCR4000

34 0832515003 A= L 1 | TCR3000
0832275003 A= L 1 | TCR4000

35 | 0832281003 J ¥ 7 3x=CP 1

36 | BSPZ08020 aHgSWy FEKur 7 M8X20 4

37 | 073304000M A7) T 2

38 | WRAOQ8 ESHEA R M8 14

39 | PS040016 RFY v TEY 4X16 10

40 | 0009301000 Ny vy ¥ R=150TR 2

41 | 0009321000 NV eF R—60CI

42 | NP05 R7YvTF v+ 4 Mb 6

43 | WRA08 EI¥Ax M8 49

44 | WRAO8 EIHFH R M8 4

45 | WRAO8 EIYFH R M8 2

46 | WSA08 NEYFHFX 3TY M8

47 | WSA10 NEYFHF 339 MIO 4

48 | WRAOQ8 EIH¥HR M8 49




TCR3000 - 40004 v 7 4 7 O—IbRN—5

Fix— (1)

RAtiEs HaF =S B i # i 1E£K fm
1 1165000004 AN— R 2
3 BSPZ08020 aFISWyFFRar 7 MEX20 4
5 1087410004 #3=CP ; R1 L | TCR3000
1092040004 723—=CP ; Rl 1 | TCR4000
6 1087370004 AN—= L 1
7 BSZ08020 agy v T MEX20 2
8 WRAO08 Es¥EAx M8 9
9 065474000M Ay xRV 88 M8X20 2
1 1087440004 A3— 5 R2 1 { TCR3000
1092050004 A1/8— 7 R2 1 | TCR4000
13 1125260004 #123—CP ; R3 1
14 1087471004 #1/3—CP ; R4 1
15 | NSP08 AFZRATY T+ b 4 M8 5
16 79658 ASY =F1 ;50 1| ®17,18,19fF
17 | 079659100M EIVARES 4
18 1 PS040016 AT vTEY 4X16 1
19 | 044097200M Ty Yy ;8 1
20 | BSPZ08020 IHWISWYFFLE 7T M8X20 4
21 | WRAOQS ESHHER M8 4




TCR3000 - 40004 v 5 1+ &' A—IbR—

ary

7

26
s
REES HEES =il o %4 PR fE#L & %

. CLF40M h75 4 APTL/2 ’ 2 | TCR3000

CLF40M H7 S5 & APT1/2 3 | TCR4000
2 | YNP4030 = 7N ; PT1/2XPF3,/8 1
] 0007781000 HTT7Fvw 75 1/2 2 | TCR3000

0007781000 ATS5F v w7 1/2 3 | TCR4000
4 | 079737400M LIA 73247 ;3/8 1 | TCR3000
5 | 2083-08-06 =y 7 ; PT1/2XPT3,/8 1 | TCR3000
6 | KUF08-020N | #4~%a2=4>(42); KUF08—020N 1
7 | KH0403150AB |27 v+ —2 ;1,/4x3150 1-S1 1
8 | 2088-04-06 ARF ZTVE ; PT1/4XPT3,/8 1 | TCR3000
9 | 112156000M yRY)RY 14 1
10 | 0776862006 v v CS025X 115X 220 1
12 | 083001000M = 1| @146
13 | WRA16 ES¥A R M6 3
14 | PC032032 7)Y 3.9%X32 3
25 | 1033-06 #—2x VK ; PF3,/8XPT3,/8 1 | TCR3000
26 | 1067460000 27wk —2 ;3,/8x3150 1
27 |KUF12-030N | #2~%2=4 (4 2); KUF12—030N 1
28 | KSA12-030N | 2%z # (2 2); KSAI2—030N 2
29 | KHOB00630AP | =7 v & —% ;3,/8X630 1—4 2
30 | YL2030 T V& ; PT1,/4XPF3,8 2
34 | 0980830000 47 8PIC 1
35 | KSA08-020N | 2% 7 % (2 ) ; KSA08—020N 1
36 | KHO400630AP | 27w & —2 ;1,/4X630 1—4 1




TCR3000 - 400041 » 5 4+ Y&’ A—IVR—5
17y

—

45

48

RUi%Es| Bm&FES i oo % i) L2k (]
37 1035-04 k—2xVF45 PF1/4XPT1/4 3
38 | 0829982000 AT 12 1
39 | KTA12-000N 7 4 — ; KTA12—000N 1
40 | 0980842000 N7 1R 1
41 | 0980851000 N A 75 121 1
42 | 0980860000 AT 58 1
43 | KTA08-000N 7 4 — ; KTA08—000N1 1
44 | KSS08-020N BT ~NFZADTY Iy b KSS08—020N 1
45 | 0980872000 N4 75 8R 1
46 | 0980880000 N4 7 8L 1
47 | KSA08—020N | a %7 % (£ 2) ; KSA08—020N 2
48 | 0812290000 27w k-2 1,/4x1000 2
49 | ILT150 Avvavy 744 3.5X162 5
50 0009280000 R by TNNT 14 1| TCR3000
0009280000 A by P73 1,/4 2 | TCR4000
51 | KN20 = 7 PT1/4 1
52 | KB4020 7y vy PT1/2XPT1 /4 1
53 0775173006 ¥ ) v CS040X400x570 2 | TCR3000
0781523006 v 1) ¥4 CS050X415% 820 2 | TCR4000
54 0467461003 A by N4 FCP 2 | TCR3000
0883251003 A by ¥ g 7CP 2 | TCR4000
55 | 077516200M [ 2 | @171
56 | 083960100M v vCP 2| @57+
57 | BSZ10030 aFyFwr 7 MIOX30 2
58 | 0009210000 27wk —2R;1,/4X3150 1




TCR3000 - 40004 v 57 4 7 A—IbR—3
ar7J

1

49

5 ) \‘@\
44 47

51
| 50
3

P

j/ | bgd”
_— 48 56
37 ///@O 71% 6 k W\/ .
o (3//)/ 70?;\ 30\2 54 %\‘57
Q\

43 e

<

X

58

RiES HEES B o % 43 % & Z
60 077519100M AFY T 2
61 CM04012 +H45axY M4AX12 4
62 NP04 A7V TFy b M4 4
63 | 1013-06 f—=R=y 7N PF3/8XPT3/8 1
64 | 2083-08-04 =y 7NV PT1/2XPT1/4 1 | TCR4000
65 115355000M Ao —=N g =T 8/8 1
67 | 1006-04 f—=2RFRAA ) PFl/4XPT1,/4 1
68 | 2083-06 =y 7, PT3,/8 1
69 2091-06 71— ; PT3,/8 1
70 1013-04-06 F—R=v 7NV PFl/4XPT3,/8 1
71 0772410000 H&—2CP; PF1,/4XPT1,/4X630 1
72 | 1006—06 F—RAFZXRAA ) PR3 8XPT3,8 1
73 NSZ10 aKFy+Fv b 8 2¥a MIO 2
T4 WSA10 NERY¥H R 3Ty MI10 2




TCR3000 - 40004 » 7 4 7' A—Ib_R—35

a7

20

TCRaooo T REH

RES M@mES #h 5 % PR TE# 1
1 0993660000 U e 0 % A 1
2 1089730000 Y Ya VA ML—F 1
3 1089741000 F =757 45—, PT1/8 1
4 (099386100M 73% v bCP 1
5 BSZ08016 amyEwvk 7 M8XI16 2
6 NSP08 ABSRATYVVIFy b 4 M8 2
7 1085380000 FavaRyF 1
8 108946000M Uk b+, MI10 1
9 NSZ10 afmygFy b 8 2va MO 2
10 1007150000 F=27 507,95 2
11 099388000M ZL—t 4
12 BZ06016 FKh 88 M6X16 4
13 NP06 27V VT Fy b M6 6
14 0993870000 75y 7
15 100057300M /% 1
16 BZ06016 K 88 M6X16 2
17 1L T380 Avvamy 774 THX382 7
18 ILT200 Avvaay 244 47X202 6
20 1003771000 F a2—7 ;550 1
21 1003793000 Fa—7; 2630 1
22 1003801000 Fa—7 ;850 1

93 1091160000 Fa2—7 ;4700 1 | TCR3000

1091210000 F a2—7 ;5000 1 | TCR4000
24 1003822000 Fa2—7 ;1350 3

25 102152000M TvyIu; L 1 | TCR3000

|
|



TCR3000 - 40008 v 7 4+ o A—ILR—5
a0

Ri%s HmES B o % i) %k I =
26 | 102153200M T¥IIN R 1| TCR3000
27 | WRAQ8 YA R M8 1| TCR3000
28 | 0801070000 =Ty 5T 1| TCR3000
29 | ILT150 Avvavayg7d4 3.5X152 2 | TCR3000
30 | 0797980000 JaxXy b ;25 2 | TCR3000
31 100511100M Frv— b 2 | TCR4000
32 | BZ06016 R b 88 M6X16 2 | TCR4000
33 | NP06 A7) T+ v b M6 2 | TCR4000
a4 1003793000 Fa—"7"; 2630 1| TCR3000

1003832000 Fa—7 ;2900 1 | TCR4000
35 | WRAO6 ESHFENR M6 2
36 | WSA10 NRXHFAEX 3Ty MIO 2




TCR3000 « 40004 » 5 4 &' A—I_R—5

72U

T

/ R—ATxH4
REs WMHES i B PR E% 1

1 | 095012000M TV 1

2 | CP06016 +FRaRY M6X16 5

3 | NP06 27Y T+ g b M6 5

4 10950130000 Y3y b RA yF 1| ®1f
5 CP04020 +FNaxY M4AX20 2 | @15+
6 | PC032016 7YY 32x16 1

7 | 062688200M 27N VT $8.8XT0 1

8 | 0950141000 =T 2 1

9 | 083199000M 75y b 1

10 | 0674921000 75 v7 ;5 6x1 4

11 | 0853100000 7H#—AS 1

14 | 0858790000 r—7i;1 1

15 | WRA04 ES¥H R M4 2

16 | 0801070000 =TI 5T 1

17 | WRA06 ESH¥FHEX M6 5

18 | NP04 27Y v F b M4 2




TCR3000 - 40004 v 57 4 o A—IbR—5

VA

R=IVLo120%

TI9

R=NAVzHZ

/
/
RHES| Hm&EFES il i [ {3 I =

1 0934181004 4 V=7 5CP 1

2 0934190004 #+ i+ — bCP 1

3 BZ14080 R b 88 MI14x80 1

4 0934200004 750y b 1

) BZ14045 Fv b 8.8 MI14x45 2

6 0828111006 RTY T 1

7 043341501M RPY VT RT— 1| @8ft
8 NZ12 Fw bk 8 2¥a2 Ml2 2

9 026970100M Ty Ve ;14 1

10 | NZ14 Fv b 8 2¥a Ml4 1

11 | WSA14 NRYFAX 3Ty M4 1

12 | NZ14 >y b 8 2¥a Ml 2

13 | WSA14 NxYHE 3Ty M4 2




TCR3000 - 40004 v 7 4 o A—IbR—5
NIV

RB&Es XRES =Y i % PR A% 1 *

1 1339790000 STAR~—7 )V ; 63 3

2 1339080000 STAR=—7 5L ; 63( V& Iy +) 1

3 1003541000 FNN G AT VRY 1

4 0768560000 AVTFar—45~<—7 1

5 0768570000 A =7 1

6 0768580000 Ay FER)Ihz=—7 1 { TCR3000

7 0874891000 2—vYav7UL—©t 1

9 1098030000 TGN, AANT ST 1

10 1237940000 Z b ;3000 2 | TCR3000
1237950000 Z XL ;4000 2 | TCR4000

11 1098000000 TNV, TA4RE s 1

12 1238410000 5~ ; CUTTING 2

13 0353640000 S At/ JOP 2

14 1061640000 AV o = B/ A | 1

15 1061710000 SN b4 ay 8 3

16 1064090000 I 43y 28 1

17 1064100000 FRW A4 ay 29 1

18 1065840000 SN, 4 a7 170 1

19 1064120000 SNV, r4 a7 31 1

20 1064130000 TNy a3y 32 2

21 1064140000 SN, 54 ay 33 1

22 1065240000 T 4 ag 110 2

23 1064160000 SN A4 a7 35 1

24 1064170000 TN rA4 a3y 36 1

25 1237630000 G A5 47 280L 1

26 1237640000 SN, AMSA4T 280R 1

27 1237930000 T v —8G 1




ABW4000 TCR3000 - 4000 H v F 4 »FO—IbR—5
YR—bRA=W(FTvar) - T70Y (FTVay)

YiR—bRA— LT BYF A

RiES| B2 EE

o & % T 3 & %

YR—= bRA—IV (T aV)

1 | 0934282004 75y hCP 2
2 | 0933324004 A4 ¥ ; 365 2
3 | 093431000M UKL ; M16 6 | @126
4 | 0934320004 £ CP; ¢30x196 2 | @114
5 | 093433000M H5— ; 82.9%120 2
6 | 066650100M G- 4
7 | 070433200M Fry 7 4
8 | 062908100M 7w ¥ ;20 2
9 | J6206LLU F=~7 Y v 6206LLU 4
10 | BZ12025 R+ 8.8 MI2X25 4
11 | NZ20 Fv b 8 2va M2 2
12 | NZ16 v b 8 2va M6 12
13 | WSAI12 NEHFHE 3dY M2 4
14 | WSA20 NEHFH R 3Ty M20 2
15 | WSA16 NEXHFHE 3FY MI6 12
xyay (7 aV)
ASY | 1090960000 7o v D 1| @®1~9f+
1 | 1093320004 L= 1
2 | 1002530004 VWA = 2
3 | 055474000M B xENVE 8.8 M8X20 8
4 | NSP08 aKIRTYVIFy b 4 M8 8
5 | 100251000M vy, 7oy 2
6 | PS030020 Z7YvIEY 3%X20 2
7 | 000085200M R—-F v 8X16 2
8 | CZ050030 Dy Fx—v 5X27.5PX30 1
9 | SSC0620 Vey s 6—1/4 2




AYC4000
#FEaIy o=y b FTVay)

BES Ha&FS B i % ) %k 1
1 1002440000 ALy FHRy 7R 1
2 10828791000 a-—-F;1 1 | ®20ff
3 1002450000 a—F ; 4X4000 1
4 1002460000 7YY CV92007 1
5 100841000M ARETFE YAz - PF; 174000 v 7 ) 3
6 100842000M A ZAPFT 2 ©90° K PFS/8(EER(OY v 7)) L
7 1002470000 27 vk —R51,/4X800 3
8 KB3020 7y vy PT8/8XPT1,/4 1
9 1002480004 T VI 1
10 | BSZ10025 agygRwr 7T MIOX25 2
11 1002490004 AN — 1
12 | BSZ08070 angyEvr T M8XT0 2
13 | NSP08 AXIRTYV T+ b 4 M8 2
14 | WRAO8 EI¥ARx M8 2
15 | ILT200 Avvaay 754 47X202 3
16 | 0829951000 27 vk—2Z;3,/8%x3150 e ; 1
18 | CLF40M AT, AR PTL 2 %E%ﬁ%% 1
19 | 0007781000 ATTFv 97 ;12 e 1
20 | FU30A ta—X;30A 1
21 114388000M 74y 1
22 2096-06 V47w b PT3,78 1
23 | 2083-08-06 =y 7 ; PT1/2XPT3,8 1
24 1013-06 & —2 =y 7N ; PF3,8XPF3,8 1
25 | WSA10 NERYFHR 3Ty MIO 2
26 | NSZ10 aAyFy b 8 2¥a MIO 2

|
I




ATD1000

1T K

s Tt O

B2 AR

Az b FTvaY)

RiES| HmES i it %k i =
40 1125560000 FrVIEYTykYTY 1
41 1125520000 J¥5v7;3F 2
42 1125530000 = — N5 9000 2500 1
43 1125540000 TR=—E 1
44 | 1125550000 TR—=NV oy b 1
45 1038750000 QY Ny g AN—2R 20
46 | ILT150 A v¥Yamy7 54 3.5X162 20




NIVIAS (FT2ar)

Fi—F47 FT2ar)

g@

-

RES BREFES il i PR &% %
ASY | 98253ASY 2V 7 (5 1| @1~8ft
1 | 079737400M L¥A47 894517 ;3,/8 1
2 | KN4030 =y 7 ; PTL/2XPT3,/8 1
3 | CLF40M 7542 PTL/2 1
4 | 0007781000 H75F vy 75 1/2 1
5 | KLA30 VR ; PT3,/8 2
6 | KB4030 7y vy PT1/2XPT3,/8 2
7 | CLF40F H75; AR PT1/2 2
8 | 0007791000 75755 1/2 2
11 | 1111090004 FI-—F47 —













S-070110K

a

Z
TREFEFR
8

—

Il = = PR

i

EEXRM

E
5

B %
ISR SR
T8
fill & 5 2 AR
L B R
A
[ I & % R
BE 2 B 2 R

# W = R P

066-8555

066-8555

070-8004

098-4100

080-2462

086-1152

028-3172

983-0013

323-0158

480-0102

700-0973

861-8039

885-1202

FHE T LELEEH 106 1 F #
TELO123-26-112
FAX0O123-26-241

FTEWmLEEA 10 6 1 F #
TELO123-22-513
FAXO123-26-203

JEN MK 4459 THI3IEIS F
TELO166-61-6131
FAX0O166-62-8985

KIEFEBENFE ETORY1191F#M44

TELO162-82-1932
FAXO162-82-1696

HIRWA 22 %41 TE 12 %F# 4
TELO155-37-3080
FAXO155-37-5187
TENTRENLET 2 TH16 % 2
TELO153-72-2624
FAX0153-73-2540
ETRAETARAIHALFRE 110 E 12053
TELO198-46-1311
FAX0O198-45-5999
EREAMETEREXFFFMHAE179-1
TELO22-388-8673
FAX022-388-8735
oA NI R 2512 -1
TEL0285-49-1500
FAX0O285-49-1560

BB HIREA R R EFHEHR191
TELO587-93-6888
FAX0587-93-5416
BRI TR 704-103
TELO86-243-1147
FAX086-243-1269
RARRATREFITH2E 15
TELO96-381-7222
FAX096-384-3525
EilFRARTERATE®E 1003-2

TELO986-53-2222
FAX0986-53-2233

W

O o=t

T.19. 01.4S®



